शीर्ष ३०५४ मरम्मति

(बिहार ग्रामीण पथ अनुरक्षण नीति 2018)

Patliputra Infra Construction private Limited Add-Sharda Niwas, Infront of Sidhi Vinayak Hospital, Gola Road, Baily Road, Patna, Pin code-801503, Dist-Patna, Mob-9934417366, 9334341604, Email-picplpatna@yahoo.com (Sri Sunil Kumar S/O-Kapildev Sharma, Sharda Niwas, Gola Road, Union Bank, Gola Road, Danapur-Cum-Khagaul, Patna)



Supplementary Agreement

Road the Masaurhi Pali Path Se Puranchak Se chhotki Masaurhi Via Dighma Mahadeopur Dhanauti(Length-5.10) (Package-MR-N/22-23 Masaurhi/05) Under 3054 मरम्मति (बिहार ग्रामीण पथ अनुरक्षण नीति 2018) (Tender ID-118995)

Supplementary Agreement No.- 16 m BD | 2022-23

Accepted Rate: - 0.05% Below

Agreement Value: -16,32,140=10

Start Date: - 01 - 10 - 2022

Intended Date of Completion: - 30-09-2023

July 11/0)

Executive Engineer Rural Works Department, Work Division, Masaurhi

Supplementary Agreement

PATLIPUTRA INFRA CONSTRUCTION DVT. LTD.

MANAGING DIRECTOR

Sd.

Executive Engineer R.W.D. Works Div. Masaushi



PRIHAR CELEBRATE CONTRACTOR CONTR

रमेश प्रसाद नुहाक बिकेता

Herein after the contractor of the contractor of the other part) Where the employer is desirous that the contractor execute Supplementary/Revise BOQ for Road From 1. Masaurhi Pali Path Se Puranchak Se Chhotki Masaurhi via Dighma MahadeoPur Dhanauti (Length- 5.10) (Package-MR-N/22-23 Masaurhi/05) Under 3054 मरम्मति (बिहार ग्रामीण पथ अनुरक्षण नीति 2018) (Tender ID-118995), (herein after called the work and the employer has accepted the bid by the contractor for rupees 2,84,83,772 (Two Core Eighty Four Lac Eighty Three Thousand Seven Hundred & Seventy Two Only) as per the revised BOQ sanctioned S.E. RWD Circle Patna vide Letter no. 1927we dated 09.11.2023

NOW THIS SUPPLEMENTARY AGREEMENT WITNESSETH AS FOLLOW:-

- In this supplementary Agreement, work and expression shall have the same Meaning as are respectively assigned to them in the conditions of contract hereinafter referred to and they shall be deemed to from and be read and construed as part of this Supplementary Agreement.
- 2. In consideration of the payment to be made by the Employer to the Contractor as hereinafter mentioned, the contractor hereby covenants with the Employer to all aspects with the provisions of the contract.
- 3. The Employer hereby covenants to pay the contractor in consideration of the Executive and completion of the works and the remedying the defects wherein contract price or such other sum as may become payable under the provision of the contract as the time and in the manner prescribed by the Contract.

PATLIPUTRA INFRA CONSTRUCTA NEVT. LTD.

Executive Engineer
R.W.D. Works Div. Masaurin

In witness whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

The Common Seal of			
vas hereunto affixed ir	the presence of:		
Signed, Sealed and De	livered by the said		
			_
in the presence of:			
Binding Signature of	Employee		
	•	i i	
	Contractor.		
Binding Signature of	Contractor		

PATLIPUTRA INFRA CONSTRUCTION DVT. LID.

MANAGING DIRECTOR

Executive Engineer R.W.D. Works Div. Masauriti

अधीक्षण अभियंता का कार्यालय, ग्रामीण कार्य विभाग, कार्य अंचल, पटना।

1927 (31%) पत्रांक-

/पटना, दिनांक-*9 [[[*]/23

प्रेषक.

अधीक्षण अभियंता ग्रामीण कार्य विभाग कार्य अंचल, पटना।

सेवामें.

कार्यपालक अभियंता, ग्रा0का0वि0, कार्य प्रमंडल, मसौदी।

विषय:- शीर्ष 3054 मरम्मति (बिहार ग्रामीण पथ अनुरक्षण नीति-2018) योजना अन्तर्गत Masaurhi Pali Path Puranchak Se Chotki Masaurhi via Dighama Mahadepur Dhanauti पथ मरम्मित कार्य के पुनरीक्षित परिमाण विपन्न अनुमोदन के संबंध में।

प्रसंग:- आपका पत्रांक-1431 अनु0, दिनांक-19.10.2023

उपर्युक्त विषयक प्रासंगिक पत्र द्वारा प्राप्त कुल 01 (एक) अदद पथ का पुनरीक्षित परिमाण विपत्र अनुमोदन कर वापस की जाती है। सभी पृष्ट अनुमोदित है। पुनरीक्षित एकरारनामा का दर मूल एकरारनामा के दर के समान होगा। अपने स्तर से भी अनुमोदित पुनरीक्षित परिमाण विपन्न की जांच कर ली जाय। त्रुटि दृष्टिगोचर होने पर इसका समाधान के पश्चात् ही पुरक एकरारनामा किया

क्रमांक	योजना का नाम	पुनरीक्षित परिमाण विपत्र की राशि (रूपया में0)	प्रशासनिक स्वीकृति की राशि (निर्माण, अनुरक्षण, एवं आकस्मिक कार्य) (लाख में)	पुनरीक्षित तकनीकी स्वीकृति की राशि (निर्माण एवं, अनुरक्षण, कार्य) (लाख में)
1.	Masaurhi Pali Path Puranchak Se Chotki Masaurhi via Dighama Mahadepur Dhanauti	Rs.2,84,83,772.00	270.396	284.837

अन्0-यथोक्त।

ग्रामीण कार्य विभाग, कार्य अंचल, पटना

Executive Enginzer R.W.D. Works Div. Masaudi

	Inviting Authority: Engg-in Chief RWD Patn	a								
3 17 Del 0	Name of Work: =		Masaurhi Pali Path Puranchak Se Chhotki Masaurhi Via Dighma Mahadepur Dhanauti							
Name O	f Block =	Masaurhi			Name Of DISTRICT :-	Patna				
Contrac	t No: Civil Works/				Hame Of Blothart					
11 7 2										
Bidder Name:		Nation are	- 2 - 1951.	128 4 727		%				
Name.				Excess (+						
SI.	Description of work	No. or		WORKS	Estimated Data	AMOUNT				
No.		Qty.	Unit		Estimated Rate	Rs. F				
(1.00)	Clearing and Grubbing Road Land (By	private		Figure	Words	59883.46				
	manual means) including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification clause 201.1 and direction of E/I	1.02	ha	58709.27	Rupees Fifty Eight Thousand Seven Hundred Nine And Paise Twenty Seven Only	39003.41				
2.00	Dismantling of Cement Concrete Pavements by mechanical means using pneumatic tools breaking to pieces not	262.50	Cum	1587.75	Rupees One Thousand Five Hundred Eighty Seven And Paise Seventy Five Only					
	exceeding 0.02 cum in volume and stock piling at designated locations and disposal of dismantled materials upto a lead of 1000 m, stacking serviceable and unserviceable materials separately		· ·							
	Construction of subgrade and earthen shoulders: Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with ead upto 1000 m as per Technical Specification Clause 303.1.	2142.00	Cum	238.02	Rupees Two Hundred Thirty Eight And Paise Two Only	509838.84				
4.00) I	Granular Sub-base with Well Graded Material (Table 400.1):- Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at DMC, and compacting with smooth wheel coller to achieve the desired density, complete as per Technical Specification clause 401.	425.41	Cum	1923.29	Rupees One Thousand Nine Hundred Twenty Three And Palse Twenty Nine Only	818186.80				
5.00 v :- c c s s ttr w p b in ac G	VBM Grading 2 (By Mechanical Means) Providing, laying, spreading and ompacting stone aggregates of specific izes to water bound macadam pecification including spreading in uniform the lickness, hand packing, rolling with three theel 80-100 kN static roller in stages to roper grade and camber, applying and rooming, crushable screening to fill-up the terstices of coarse aggregate, watering and compacting to the required density rading 2 as per Technical Specification lause 405.	241.05	Cum	4190.74	Rupees Four Thousand One Hundred Ninety And Paise Seventy Four Only	1010177.88				

PATLIPUTRA INFRA CONSTRUCTION PATLIPUT. LID.

MANAGING DIRECTOR

Executive Engineer

R.W.D. Works Div. Masactin

Tobor.

SI. No.		No. or Qty.	Unit		Estimated Rate	AMOUNT Rs. P
(8.00)	WBM Grading 3 (By Mechanical Means): Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	498.17	Cum	Figure 4081.82	Words Rupees Four Thousand Eighty One And Paise Eighty Two Only	2033440.27
	Prime Coat (Low porosity):- Providing and applying primer coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70- 1.0 kg/sqm using mechanical means as per Technical Specification Clause 502.	6642.27	Sqm	55.99	Rupees Fifty Five And Paise Ninety Nine Only	371900.70
8.00	Tack Coat :- Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface tretaed with Primer and clened with hydriloc broom as per technical specification aclouse 503.	6642.27	Sqm	18.96	Rupees Eighteen And Palse Ninety Six Only	125937.44
9.00	Patch work over WBM using Mix seal surface With Waste Plastic for bituminous and Existing CC Pavement: Providing, laying and rolling of close-graded premix surfacing material of 20 mm thickness composed of 11.2 mm to 0.9 mm (Type-A) or 13.2 mm to 0.9 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509.With waste plastic	6642.27	Sqm	222.08	Rupees Two Hundred Twenty Two And Paise Eight Only	1475115.3
10.00		,	Sqm	15.78	Rupees Fifteen And Paise Seventy Eight Only	254452.5

Estimator

Works City Rend Collegraphy कार्य विभाग कार्य विभाग

Executive Engineer R.W.D. Works Div. Masauthi

APPROVED AS CORRECTED

MANAGING DIRECTOR

		No. or Qty.	Unit		Estimated Rate	AMOUNT Rs. P
	Semi-Dense Bituminous Concrete: Providing and laying semi dense bituminous concrete with 100-120 TPH batch type HMP producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with bituminous binder @ 4.5 to 5 per cent of mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MoRTH specification clause No. 508 complete in all respects.	403.13	Cum	Figure 11627.00	Words Rupees Eleven Thousand Six Hundred Twenty Seven Only	4687192.51
	Construction of dry lean cement concrete Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse	15.00	Cum	3559.36	Rupees Three Thousand Five Hundred Fifty Nine And Paise Thirty Six Only	53390.4
	aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in a batching plant, transported to site, laid with a paver with electronic sensor, compacting with 8-10 tonnes vibratory roller, finishing					
3.00	and curing. Cement Concrete Pavement: Construction of un-reinforcedplain cement thickness as perdesign, over a prepared sub base with 43 grade cement or any	412.50	Cum	6645.95	Rupees Six Thousand Six Hundred Forty Five And Paise Ninety Five Only	2741454.:
	other type as per clause 1501.2.2 M 30 grade coarse and fine aggregate maximum size of aggregate not exceding 25mm, mixed in a concrete of not less than 0.2cum capacity and appropriate weigh batcher using approved mix design, laid in					
	approved fixed side formwork (steel channel ,laying and fixing of 125 micron thick plythene film ,wedges ,steel plates including levelling the formwork as per drawing) spreading the concrete with shovels , rakes , compacted using needle, screed and plate vibrators and finished in continuous operation including provision of					
	contraction and expansion, constrution joints, applying debonding strips, primer, sealant, dowel bars, near approaches to bridge/ culvert and construction joints, admixtures as approved, curing of concrete slab for 14 days curing compound (where specified) and water finishing to lines and grade as per drawing and					

Estimator
PATLIPUTRA INFRA CONSTRUCTION PVT. LTD.

APPROVEDAS CORRECTED

R.W.D. Works Div: Masaum

SI. No.	Description of work	No. or Qty.	Unit	o ja Minerijo iz je komboliza Prima i i indigija je postava iz	Estimated Rate	AMOUNT Rs. F
	Wilematra stone :- Pointe			Figure	Words	
F14.0D	Kilometre stone :- Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703. i) km Stone	1.00	nos	4242.25	Rupees Four Thousand Two Hundred Forty Two And Paise Twenty Five Only	4242.25
15.00	ii) Km Stone	7.00	nos	2521.08	Rupees Two Thousand Five Hundred Twenty One And	17647.56
16)00	(ii) 200 m Stone	21.00	nos	721.05	Palse Eight Only Rupees Seven Hundred Twenty One And Paise Five Only	15142.0
17.90	Retro-reflectorised Traffic Signs:- Providing and fixing of retro-reflectorised cautionary, mandatory and informatory sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3 fixed over aluminium sheeting, 1.5 mm thick supported on a mild steel angle iron post 75 mm x 75 mm x 6 mm firmly fixed to the ground by means of properly designed foundation with M15 grade cement concrete 450 mm x 450 mm	14.00	nos	3820.69	Rupees Three Thousand Eight Hundred Twenty And Palse Sixty Nine Only	53489.66
18.00	x 600 mm, 600 mm below ground level as per drawings and Technical Specification Clause 801 i) 600 mm equletral & triangle	12.00		5470.07	Rupees Five Thousand One	62136.8
) 2		12.00	nos	5178.07	Hundred Seventy Eight And Paise Seven Only	02130.3
	600 mm x 450 mm rectangular	14.00	nos	5039,13	Rupees Five Thousand Thirty Nine And Paise Thirteen Only	70547.82
	Boundary Pillar/Gaurd Post:- Reinforced cement concrete M15 grade boundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification	66.00	nos	555.39	Rupees Five Hundred Fifty Five And Paise Thirty Nine Only	36655.74
1.00	Clause 1704 Planting of Trees and their Maintenance for one Year: Planting of trees by the road side (Avenue trees) in 0.60 m dia holes, 1 m deep dug in the ground, mixing the soil with decayed farm yard/sludge manure, planting the saplings, backfilling the trench, watering, fixing the tree guard and maintaining the plants for one year	430.00	Each	1094.53	Rupees One Thousand Ninety Four And Paise Fifty Three Only	470647.90
	Road Marking with Hot Applied Thermoplastic: Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35 .The finished surface to be level, uniform and free from streaks and holes.	860.00	Sqm	777.04	Rupees Seven Hundred Seventy Seven And Paise Four Only	668254.40
1	AT Edge for cc protion	160.00	Sqm	807.82	Rupees Eight Hundred Seven And Paise Eighty Two Only	129251.20

FAIL IPOTRATNERA CONSTRUCTION IVI. LTD

APPROVEDAS CORRECTION.

Executive Engineer

R.W.D. Works Div. Masauth

MANAGING DIRECTOR

il. Io.	Description of work	No. or	Unit		Estimated Rate	AMOUNT Rs. P
		Qty.		Figure	Words	
24.00	Providing and Fixing 'Logo' of Maintenance Project :- Providing and fixing of typical MMGSY informatory sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle	2.00	nos	9919.68	Rupees Nine Thousand Nine Hundred Nineteen And Paise Sixty Eight Only	19839.36
	iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground					
	level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc.					
<u>~</u>	will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted with primer and two coats of epoxy paint as per drawing Clause 1701 and Annexure 1700.1		, T			
						1
	Earth work in excavation of foundation trenches: — Earthwork in excavation for structures as per drawing and technical specifications Clause 305.1 including setting out, construction of shoring and	287.15	Cum	338.37	Rupees Three Hundred Thirty Eight And Paise Thirty Seven Only	97162.9
	bracing, removal of stumps and other deleterious material and disposal upto a lead of 50 m, dressing of sides and bottom and backfilling in trenches with excavated suitable material.			V		
	Sand Filling in Foundation: Sand Filling in Foundation Trenches as per drawing and technical specification Clause 1108.	7.50	Cum	539.91	Rupees Five Hundred Thirty Nine And Paise Ninety One Only	4049.3
	Providing M15 (PCC 1:2.5:5) as levelling course in foundation :— Providing PCC M 15 (1:2.5:5) concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	26.84	Cum	5947.79	Rupees Five Thousand Nine Hundred Forty Seven And Paise Seventy Nine Only	159638.6
3.90	Plain/reinforced cement concrete(M-20) in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204	117.11	Cum	6675.37	Rupees Six Thousand Six Hundred Seventy Five And Paise Thirty Seven Only	781752.9
1	Providing RCC M25 in Deck Slab : Providing and laying reinforced cement concrete in superstructure (Deck slab M25) as per drawing and technical specifications Clauses 800, 1205.4, 1205.5	25.66	Cum	7689.11	Rupees Seven Thousand Six Hundred Eighty Nine And Paise Eleven Only	197302.
	Supplying, fitting and placing HYSD bar reinforcement in super-structure complete as per drawing and technical specifications	2.70	МТ	79500.38	Rupees Seventy Nine Thousand Five Hundred And Paise Thirty Eight Only	214651.0

52A 1012

31/10/23

MANAGING DIRECTOR

PROVED A Exercise Finging R.W.D. Works Div. Masa.

il. Io.	Description of work	No. or Qty.	Unit		Estimated Rate	AMOUNT Rs. I
		11 . 14		Figure	Words	
3100	Providing weep holes in abutement:— Providing Weepholes in brick masonary, Plain / Reinforced concrete abutement, wing wall, return wall with 100 mm dia AC pipe extending through the full width of the structure with slope of 1V: 20H towards drawing	68.00	nos	124.47	Rupees One Hundred Twenty Four And Paise Forty Seven Only	8463.9
32.00	Brick Masonary in C.M.(1:3) In parapet:- Brick masonry work in cement mortar 1:3 in parapet excluding pointing and plastering as per drawing and technical specifications Clauses 600, 900 and 1208.4	14.40	Cum	6173.06	Rupees Six Thousand One Hundred Seventy Three And Paise Six Only	88892.0
33.90	Plastering with cement mortar (1:4):- Plastering with cement mortar (1:4) on brick work in sub-structure as per	100.80	Sqm	166.89	Rupees One Hundred Sixty Six And Paise Eighty Nine Only	16822.5
34,00	Technical Specifications Painting Two Coats on New Concrete Surfaces: Painting two coats including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered / concrete surfaces as per drawing and Technical Specification	100.80	Sqm	110.60	Rupees One Hundred Ten And Paise Sixty Only	11148.4
35.00	Clause 1701 Providing PCC M 20 (1:2:4) concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 &	75.83	Cum	6401.61	Rupees Six Thousand Four Hundred One And Paise Sixty One Only	485434.0
36.00	Supplying, fitting and placing HYSD bar reinforcement (Fe 415) in substructrue complete as per drawings and technical specification Clauses 1002, 1005, 1010 &	7.75	ton	78182.55	Rupees Seventy Eight Thousand One Hundred Eighty Two And Paise Fifty Five Only	605914.7
37,00	Backfilling behind abutment, wing wall and return wall complete as per drawings & technical specification Clause 1204.3.8	100.13	Cum	854.04	Rupees Eight Hundred Fifty Four And Paise Four Only	85515.0
38.00	Providing and laying filter material underneath pitching in slopes complete as per drawing and technical specifications Clause 1302	54.34	Cum	3037.26	Rupees Three Thousand Thirty Seven And Paise Twenty Six Only	165044.7
(39)00		17.40	М	6421.54	Rupees Six Thousand Four Hundred Twenty One And Paise Fifty Four Only	111734.8
40.00	Drainage spouts complete as per drawing and technical specifications	8.00	nos	606.25	Rupees Six Hundred Six And Paise Twenty Five Only	4850.0
41.00	Clause 1209 Providing and laying cement concrete wearing course M 30 grade including reinforcement complete as per drawing and technical specifications Clauses 800	4.57	Sqm	13652.63	Rupees Thirteen Thousand Six Hundred Fifty Two And Paise Sixty Three Only	62392.5
42.00	and 1206.3 P.C.C. M 15 ordinary grade (1:2.5:5) levelling course below approach slab complete as per drawing and technical specifications Clauses 800 and 1211.	16.32	Cum	4872.26	Rupees Four Thousand Eight Hundred Seventy Two And Paise Twenty Six Only	79515.2



PPROVED A EXPRESIENGINGER

R.W.D. Works Div. Masaurin

MANAGING DIRECTOR

SI. No.	Description of work	No. or Qty.	Unit		Estimated Rate	AMOUNT Rs. P
43.00	Reinforced Cement Concrete M 30 grade		4 454	Figure	Words	f ∜ ;
	apporach slab including reinforcement and formwork complete as per drawing and technical specifications Clauses 800 & 1211. Total cost Of Construction	36.76	Cum	12018.63	Rupees Twelve Thousand Eighteen And Ralse Sixty Three Only	441804.89
(49)						1,97,27,700.84
40	1% Labour Construction		1			1,97,277.01
10	TOTAL SEIGNIORAGE FEE Construction	1	,		2367324.14	.35,50,986.1 5
44.00	Maintainance for 1st year	1	ito i d	4 May 1		1,55,950,20
€F) ₹8)	p - 2	20.00	Per 3 month	267076.50	Rupees Two Lakh(s) Sixty Seven Thousand Seventy Six And Paise Fifty Only	0 : S, C (1) 후 교 53,4 (530.00 ;요 _g(고 (1) 교수의
Ga	1% Labour Maintainance				,	53,415.30
	12/18% GST Maintainance				640983.60	9,61,475.40
(05)	TOTAL SEIGNIORAGE FEE Maintainance				070160 00	13,891.23
Ĭ.	Total Estimated Cost in Figures					
	Quoted Amount				3,00,02,226.1 3	3,00,02,226.13 3,00,02,226.00

Bill of Quantity Approved as corrected or Item No

... for Rs. 30002726 Wripe Three Crone Turo thousand Two hundred and twenty only

Including Five Years Maintenance

Works Circle, Patna

तकनीकी सलाहकार गामीण कार्य विभाग कार्य अचल, पटना

अधीक्षण अभियन्ता ग्रामीण काये विभाग कार्य अंचल, पटना

PATLIPUTRA INFRA CONSTRUCTION PVT. LTD. MANAGING DIRECTOR Executive Engineer R.W.D. Works Div. Masar

Bill of Quantity Approved as corrected for Item No

28483772. What was and Seven hundred aren't y two

Eight four lake three thousand seven hundred mily;

Including Five Years Maintenance.

Estimator R.W.D. Works Circle, Patna तकनीकी सलाहकार ग्रामीण कार्य विभाग कार्य अचल, पटना अधीक्षण अभियन्ता ग्रामीण कार्य विभाग कार्य अंचल, पटना

PATLIPUTRA INFRA CONSTRUCTION PVT. LTD.

MANAGING DIRECTOR

Executive Engineer R.W.D. Works Div. Masaum